Zweil.

HY {7 & BA

YIFPLIWIU—=X LIN=I\VRIL

CORVR. HHBRBZEBEVLIFOCREEXLTHDHES

CEVET,
HRZERE(CTEALTVELEDIC. M FCORMHIAEZE L BHE

it DS ZIEULLEDFIFZITL. SEALEEL,

ANES

CORTZER. BIVREUTOEREREZTFSBVWTHEALLES.
RIFICIEEZSADTDZIEDSBDIT,
c AROEBNERBELIFEALBEPTE. WESKVUFELCTIAKRERNDO R CEALBEVTLEE L,

c ARROWOMIFE, FECHODTEULLHEIULTLKEEL,

EEUANDTETMORIFIETE, FROUENRETELVEIDTREL., RIBFICKDEBEDOB I A ZITIBNDEEDET,

NYRILOAIYF. BRUTKREFBEEICKD., yHZLED

B/\YRILSESRR

- IFEAR) (L33mm) P23
- RATUFEIIRIL k MAX12 27
© FENRMEMRIL b M4X25 27K

- NAEEZ/\F FU2.5 &K

- NEEZ/NF HU3 1%

P [mm
o

H/\> RJVEE I T~ &
COMITER.

cSYTH AFVUABES—20v Y

- LX&y—20v9
ERABORETT .

Fle. TOFERFNY RV EBRMTEICE
20T, BERRORGTEGEE
[CL>TEBEDET,

HOsr—20y I~NOEfG. BKUEE
WEOMMDEF. ZNZNOLBEETHER
LEEEV.

Ky gty b

1 AELDR=-ZTL—-FEHT

LIX—N\VELREQ  VITIWIEMAR

PIRENRIC.YAFARS
AN—ZEAH KEK
bR—ZXTL—hZWb
NHUET,

2~A—2TU—MOHTT

NABINFHEU2.5%

BAWT. R=XTL—hIC %

ANAINMSEMKILE
MA4X12THARZERD
FFET,

Y,
KB EDAIL L N

M4ax12

ARICNVRILERDFIFS

@
N—=2T—NC

Ev5USD

FTHLAG

J\URIVEEBRDEIREIC

N=Z2TL—bDYXDISED

FDP245@/ICAVEBL T
—20v21\VR)\VEEYE
U RElRDES 14D/ \ R
WEADIGBELE T FEaEh'S
I\VRIVEEEREN—Z T —E
Loh iU T/ \URILDA
SR ERSIELIEDFE TR
<HDANTEELET

NAmER N BUS

B N—RTU—hOBYIREYF

38mMm&E34mmOD2FEENHDFET . /\
VRIVERD{HI B —ZA0v I DEYFIR
EvFICRU THHARZRD I T EE
LYo

SVTH AF VUV AR —20v D,
BLULXBS—20v T1F, 38mmE
vyFTY,

SEICR—ATU—FERDFHIFS

7o
REEZINF ~/
FU2.5

NARMGEMARILE
M4x25

FEDPBEEINIC, HiARZ
BLTY—ROvIICEYRL
SR KDBHS THRONR—
AT —bZERAEFYTEDRN
JVEMAX25TEREL & 9 o

o VLT ©

H BLRTODESE
ALONYRIVEEBHSDREE
57mm (124 ¥, EE36~43mmIC
MWHLTWET,
FEE44~50mmEN{IEFICIE. BSh
IOV TWS/\VRILDOAETLESR
LD . AEE7mm3IEHUL. B
ELEHRUZLOHDDRDIAATLEE
LYo

RE44~50mm 64

(]| m@36~44mm 57 (i5:)

\%75

RikET
LohY
#WHAAT
{fEEW,

o - é
RILE

SnaEan—zmbtirs

FFEEO/\ Y RVEERICH
EHN—-ZEytLET,
REAIN—FEIREERZ T
[C@Elr. L F2EmD/ vF
BZO—-@ODIETHLAH
NR—=2TU—b~ERICIE
HRAHET

G mitgors

PRENTEE

NIRIVDASYFEL R L— Zlgf'ﬁiﬂ?’ég&’éﬁﬁ&ﬁbf(ﬁ.i‘b\

ARmICETHCER - CHEk

—+7orot—rx EEES 03(3864) 1122
Sl BA~8 9:00~17:30 (k- & ESHEERERL)

RIE

HEVKROWIEWEERSERE. Fie lE!:'Fnﬂ(DMI:I [CHERBEULNVELET,

FAX 03(3863)6875

SUGATSUNE 2HYIYRIE

LAMPEIDHEERT TA > &YA—H—

ISO 9001 (JSAQ384) - IS014001(JSAES97) BEEER

E-mail : support@sugatsune.co.jp #ISOS001:ENEHA #IS014001: FRERE TRIS HE0 WABRS Wt 5—
RRB FLAXEARE2-5-10 T101-0032 http://www.sugatsune.co.jp/

2013.04 PRINTED IN JAPAN 0296-4



Zweil.

INSTALLATION

Zweil SERIES LEVER HANDLE

INSTRUCTION

/N WARNING

- Improper

installation may cause

improper

product

- Sugatsune will not be liable for any injuries or damages due to improper application or use on

performance and serious damage / injury.

a door that is not within proper specification, or by disassembling / customization.
B PROVIDED PARTS H BORE DIMENSION 38
- Sleeve(L=33mm) 2pes [ [ This bore dimension is for Back set
LX lock case or Sugatsune's
Flat-head Hex Bolt M4x12 2pcs  [mm |mm stainless steel lock case.
- Flat-head Hex Bolt M4x25 2 pcs | [ )
Please contact us in case E}
- Hex-L Key (2.5mm key) 1 pes of using other lock case.
024
- Hex-L Key (3mm key) 1 pcs
1 REMOVE BASE PLATE 4 INSTALL THE LEVER HANDLE
Base plate is attached Face plate
inside of the face plate.
Insert a slotted screw sl ®
. . otted
driver into the hole on the ®’

side of face plate and
remove the base plate.

Base plate

2 ASSEMBLE BASE PLATE

Attach the sleeves with
flat head hex bolts M4 x
12 using hex-L key 2.5
(provided)

s

/ Sleeve
% Hex-L key

e N/ 7 @

Install handles securely
and tighten the socket set
screw on the handle.

Push in
securely 7

v ﬁ

\ Handle

Socket set screw

“Hex-L key 3

H Hole pitch on base plate
There are 38mm pitch and 34mm pitch
patterns on the base plate. Choose the
right hole depending on the latch.

The hole pitch of Sugatsune's stainless
steel lock case and LX lock case series
are 38 mm pitch.

Spindle is adjusted to fit 36-43mm
door thickness when shipped from
the factory. For 44-50mm door
thickness, loosen the socket set
screw, pull out the spindle 7mm,
and tighten the screw firmly after
adjustment.

Hl The spindle length adjustment

64 for 44-50mm door thickness

17|57 for 36-43mm door thickness

\Spindle
Pull out 7mm

Socket
set screw

Hex-L key 2.5

Flat head hex bolts
M4x25

Install base plates with
flat-head hex bolt M4x25
and the other base plate.

Make surethat
thescrewsare
tightened.

17,
(NS

o N7 o

5 INSTALL THE ESCUTCHEON (COVER RING)

Press in the cover ring
in order of ©® @ as shown
right and snap-in the cover
ring firmly onto the base
plate.

Cutout on the ring should
be facing downward.

6 ADJUSTMENT

Base plate

u Cove/r ring \V

Check the motion and make sure the lever handle

works properly.

SUGATSUNE KOGYO CO.,LTD.

Phone:
Fax:
E-mail:
Website:

+81 3 3866 2260
+81 3 3866 4447
export@sugatsune.co.jp
www.sugatsune-intl.com

SUGATSUNE KOGYO (UK) LTD.
Phone: +44 118 9272 955

F a x : +44 118 9272 871
E-mail: sales@sugatsune.co.uk
Website: www.sugatsune.co.uk

SUGATSUNE AMERICA, INC.
Phone: +1 310 329 6373

F a x : +1310329 0819
E-mail: sales@sugatsune.com
Website: www.sugatsune.com

SUGATSUNE SHANGHAI CO., LTD.

Phone:
Fax:
E-mail:
Website:

1SO9001(Japan Offices and Sugatsune America) and 1ISO14001(Chiba Production division and Logistic center), certified.

+86 21 3632 1858

+86 21 3632 1868

lamp @ sugatsune.com.cn
www.sugatsune.com.cn



